Problem C

The nutty professor (Easy)

Lasse is a nutty professor. He believes strongly that in order
to make computer programs for the future, one should make
them parallel. In order to convince the rest of the world
that he is correct he wants to carry out an experiment. The
experiment proceeds as follows: For a number of problems
where a serial implementation is available, he estimates the
number of times this program will be executed within the
next year (when the program will probably be rewritten).
He orders his slave, Magnus, to develop a parallel version
of the program and measures the amount of time Magnus
uses developing it. At the end, they measure the execution
time of both the parallel and the serial version.

Based on the collected data, Lasse wants to know in
which cases the overall number of man-hours spent on this
program is minimized by parallelizing. Man-hours are spent developing the parallel version
and waiting while programs execute.

Input specifications

The input has ¢ < 1000 cases, where t is given by the first line of input. Each test case
is given by a line with four integers d, n, s and p separated by a single space. d is the
time spent developing the parallel version (0 < d < 1000000), and n is the expected
number of times this program will be executed during the next year (0 < n < 100000). s
and p are the running times of the serial and parallel version of the program respectively
(0 < s,p < 1000).

Output specifications

For each test case output "parallelize” on a single line if it is beneficial to parallelize.
If it is not beneficial to parallelize, the outputted line should be ”do not parallelize”.
If the expected total time spent with the program is similar regardless of whether it is
parallelized or not, the outputted line should be ”does not matter”.

Sample input Output for sample input
3

10 2 3 2 do not parallelize

20 5 8 2 parallelize

0211 does not matter



